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R2 = 3 L r2 = 2 L m1 = 5 L m2 = 15 L m3 = 6 L
m4 = 13 L S = 117 L cosα = 0,8 M
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R2 = 3 L r2 = 2 L m1 = 4 L m2 = 15 L m3 = 10 L
m4 = 13 L S = 126 M
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R2 = 4 L r2 = 2 L m1 = 5 L m2 = 12 L m3 = 1 L
m4 = 15 L S = 99 L cosα = 0,6 M
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R2 = 4 L r2 = 3 L m1 = 10 L m2 = 13 L m3 = 3 L
m4 = 10 L S = 72 L cosα = 0,6 M
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R2 = 4 L r2 = 2 L m1 = 4 L m2 = 13 L m3 = 13 L
m4 = 15 L S = 135 M
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R1 = 3 L r1 = 2 L R2 = 4 L r2 = 2 L m1 = 2 L m2 = 10 L
m3 = 15 L m4 = 15 L S = 84 L α = π/3 L cos β = 0,6 M
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R1 = 4 L r1 = 2 L R2 = 5 L r2 = 3 L R3 = 5 L r3 = 3 L
m1 = 45 L m2 = 15 L m3 = 12 L m4 = 15 L S = 174 L
cosα = 0,8 M
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R2 = 5 L r2 = 3 L R3 = 5 L r3 = 3 L m1 = 125 L
m2 = 10 L m3 = 12 L m4 = 15 L S = 324 L cosα = 0,8 M
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R2 = 4 L r2 = 3 L R3 = 3 L r3 = 2 L m1 = 5 L m2 = 13 L
m3 = 12 L m4 = 10 L S = 80 L cosα = 0,8 M
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R2 = 4 L r2 = 3 L R3 = 5 L r3 = 3 L m1 = 15 L m2 = 10 L
m3 = 15 L m4 = 10 L S = 150 L α = π/3 M
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R1 = 4 L r1 = 3 L R2 = 4 L r2 = 2 L m1 = 2 L m2 = 13 L
m3 = 6 L m4 = 12 L S = 66 L α = π/3 L β = π/3 M
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R2 = 3 L r2 = 2 L R3 = 4 L r3 = 3 L m1 = 15 L m2 = 10 L
m3 = 10 L m4 = 13 L S = 48 L cosα = 0,8 M
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R2 = 4 L r2 = 2 L m1 = 5 L m2 = 10 L m3 = 10 L
m4 = 15 L S = 80 L cosα = 0,8 M
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R2 = 5 L r2 = 3 L m1 = 1 L m2 = 10 L m3 = 12 L
m4 = 15 L S = 114 L cosα = 0,6 M
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R2 = 4 L r2 = 2 L m1 = 4 L m2 = 13 L m3 = 10 L
m4 = 12 L S = 117 M
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R2 = 5 L r2 = 3 L R3 = 5 L r3 = 3 L m1 = 3 L m2 = 13 L
m3 = 12 L m4 = 15 L S = 86 L α = π/3 M
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R2 = 5 L r2 = 3 L m1 = 12 L m2 = 3 L m3 = 30 L
m4 = 10 L S = 120 M
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R2 = 5 L r2 = 3 L m1 = 4 L m2 = 12 L m3 = 10 L
m4 = 12 L S = 114 L α = π/3 M
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R2 = 3 L r2 = 2 L m1 = 5 L m2 = 12 L m3 = 5 L
m4 = 10 L S = 64 L cosα = 0,6 L cos β = 0,8 M
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R2 = 5 L r2 = 3 L m1 = 10 L m2 = 10 L m3 = 5 L
m4 = 12 L S = 111 L cosα = 0,8 M
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R2 = 4 L r2 = 2 L m1 = 4 L m2 = 10 L m3 = 13 L
m4 = 12 L S = 117 M
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R2 = 4 L r2 = 2 L R3 = 3 L r3 = 2 L m1 = 8 L m2 = 10 L
m3 = 10 L m4 = 15 L S = 43 L α = π/3 M
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R2 = 5 L r2 = 3 L m1 = 2 L m2 = 13 L m3 = 5 L
m4 = 15 L S = 105 L α = π/3 M
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R2 = 5 L r2 = 3 L m1 = 10 L m2 = 10 L m3 = 5 L
m4 = 15 L S = 80 L cosα = 0,8 M
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R2 = 4 L r2 = 2 L m1 = 5 L m2 = 15 L m3 = 10 L
m4 = 15 L S = 180 L cosα = 0,8 M
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R2 = 4 L r2 = 3 L m1 = 10 L m2 = 10 L m3 = 4 L
m4 = 13 L S = 74 L cosα = 0,8 M
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R1 = 3 L r1 = 2 L R2 = 4 L r2 = 2 L R3 = 4 L r3 = 3 L
m1 = 40 L m2 = 10 L m3 = 13 L m4 = 15 L S = 78 L
cosα = 0,6 M
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